freft v gz wm d XvZA #1234 sin EFGH =i
78910%mﬁ1%|1a1mi,ﬂ‘r311ﬁ§zmﬁ
AXGE %! %9 foman wmom 2

(1) 4217

(2) 4197

(3) 4179

(4) 4917

(5) 3IW & 21 9mEQ

&t ws ¥ ww § DFGHJ B FHIJL % wq %
%mmhssﬁwmﬁmnmﬁﬁram
foran smam 9
(1) CWPJV
(2) CWEJV
(3) CWFKV
(4) CWFIU

(5) I & ¥ wTRY

ﬁﬁqwm%aﬂﬁwmmm T AR
I W62 S 1 Hifvra
VERIFIED
(1) FRIEND
(2) DEFER-
(3) DRIVE
(4) FRIED
(5) I T & =S

4 waferal s, e o < o et ¥ T |
T fa= faen @ afgar 3 @ g & W ofr @
gﬁmmmﬁmmanﬁvﬁm%ﬁml
A% 2 360 % faret w1 AT foran w2, @ W 3
faa ufer 1 s ey 2 9 ‘

1) 760

(2) 2180

(3) 2100

(4) Z 200

(5) 3w T 21 AR

MARA/D2/Page 2

mmrdisﬁwqusncemnn
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In a certain code language XYZA is written as
1234 and EFGH as 78910. How is AXGE written
in that code language ?

(1) 4217

(2) 4197

(3) 4179

(4) 4917

(6) Not attempted

In a certain code language DFGHJ is written as
FHIJL. How is AUDIT written in that code
language ?

(1) CWPJV

(2) CWEJV

(3) CWFKV

(4) CWFIU

(5) Not attempted

Find out the word which cannot be formed by
using the letters of the given word :

VERIFIED
(1) FRIEND
(2) DEFER
(3) DRIVE
(4) FRIED
(5) Not attempted

Three friends Amité, Babita and Chanchal went
to a restaurant. When the bill was received,

Amita paid g as much as Babita paid and

Babita paid % as much as Chanchal paid. If the

bill paid is ¥ 360, then what is the amount paid
by Babita ?

(1) %60

(2) =180
(3) 2100
(4) =200

(6)  Not attempted
QUGH WORK




5. 39 WfAHE A ‘o’ % A e d 2
XalL=2
PaH=2

LaF=2
1 -
(2) +-
3 =+
(4) x
(5) I A &M =g

(1) aa 1 3R 111 fepera &
(2) %ad 13K 11 e &
(3) ad II freperan 2
(4) a9 111 Feperan 2
(5) I AR & =R

6. T o ¥ A G Fewd fu o ¥ | g 6
a2 A frm A g0 o Sl B o wEa ge TR fol
Hf 7% aifbs w0 3 SR feed Ry T Hot
¥ /e € |
FU7:  FS 4 JA[E |

aoft S & § |

TS IMegER AR E |
ey (1) $9 % SAegen £ |

(II) o9 A 2 |

I @t et R E |

7. P,QR,S, TRk ®m | P QE g, fig g

PaHfamad 2 | ‘R SH @

B PR

What is the value of ‘e’ in this pattern ?
XaL=2
PoH=2
LaF=2

(1) -

2) +

3 +

4) x

5) Not attempted

Three statements are followed by three
conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known facts. Decide which of the given
conclusions logically follow(s) from the given
statements.

Statements : Some apples are grapes.
All grapes are bananas.

Some plums are grapes.

Conclusions : (I) Some bananas are plums.

(II) Some apples are bananas.

(IIT)  All bananas are grapes.

(1) Only I and III follow

(2) OnlyI and II follow
(3) Only II follows

(4) Only III follows

(5) Not attempted

P,Q, R, 5, T went on a picnic. ‘P’ is the son of ‘Q’
But ‘Q’ is not the father of ‘P, ‘R’ i the son of .

‘S,
“T°, ‘S’ $1 gl R | 'who is the brother of P". “T" is the wife of <5’ ’
‘PH‘RIFFaT R ? How is ‘P’ related to ‘R’ ?
(1) faa (1) Father
(2) w9t (2) Nephew
(3) Wi (3) Brother
(4) =r=n (4) Uncle
(5) IR T 2N =Ed (5) Not attempted
— |
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8.

10.

11.

A, B, C, D, E 3ik F us &R 3 § F3 #i 3R
TewS R D, B * AFE AR a1 2
IR B, F F Pery vord T 2 | C, A 3R D
Fda AR T v A E 2

(1) C3RD
(20 B3MD
(3) ARE
(4) A3INB
(5) I AE 1 =R
9 R M fawedl § & gw F&@ F 9H AR
o8 v @ oft &t 1
55, 56, 58, 61, 65, __
1 72
(2) 170
(3). 69
4 71
(5) IR & & 918
39 @ § p H HE @ HIAC
11 1 1
19_5_9p9_9—
39’7 81 243
o L
39
@ L
27
1
Q) —
Y]
(4) =
29
(5) I A& &1 =R

9% ZAT FEEIA T T T 9REW B AT ITE Th

meArfl, S F9H e fim ot 2, 7 & fon | W

77 % ?

(1) @97 s/ 1 @F gy HA i |

(2) AR |

(3) w1 AEANE % " Igdh e A |

(4) dftgm FA wif w@En, wifE qftm @ afem
wza w2 B |

(5) I A7 21 9mEa

10.

11,

MARA/D2/Page 4

A B,C,D,E and F are sitting in a circle facing
ﬂ;e centre. ‘D’ is on the immediate right of ‘B’
and ‘B’ is not the immediate neighbour of ‘F. 'C
is between ‘A’ and ‘D’. Who are the neighbours of
2
(1)
(2)
(3
(4)
(5)

CandD
Band D
Aand E
Aand B
Not attempted

. |
Choose the missing number from the given

options that will complete the number series :
55, 56, 58, 61, 65, __

72

70

69

i | ;

Not attempted

(1)
(2)
(3)
(4)
(5)

Find the value of p in the series :
11 1* 4
1: = =P Ty T
3°9 81 243

i =t
®
1
7
@
@ L
21
4 L
29
(5) Not attempted

{kll t.}.w hard work done by you at your workplace
is hijacked by one of your colleagues, who is a
good friend of yours. You will :
(1)

(2)

start praising about your work yourself.
leave the job.

() criticise him in front of other colleagues. -

(4)  continue hard work as hard work always
pays.

(5)

Not attempted

——
% w14 & oY T / SPACE FOR ROUGH WORK



12. Fefafes @ | fim gz a0 2 0

(1) 3« 9m

(2) ama 6 ardh
(3) W9 HERWTT
4) fe= ogmm

(5) I T8 2 wmeA

13. R Wom w9 % 9w Hifio ek sqen s
=afem 6 @ vw ads ez w o a
I L B O E M
1 2 3 4 5 &6

‘1 6,4,3,2 5,1
(2) 3,4,5,6,2,1
3 6,4.3,1,2,5

'4) 3.4.6,2.1.5
5 I IH 2 wmA

14 hmﬁ!ﬁwwﬁfw:ﬁﬁﬁqg%m
n
11:120-:25:2
1) 624
2) 250
3) 125

224
I Iz 9wA

[ 4,

15. wu&ﬁmwwﬁhvfmimmmh
wefun @ ¥ fa& fra yezqu 4 foo o §

naE  MEEEE
T
Z) YW e
(3, amay  ma

4) woven  Taa a9
(5) I aft 24 a@wA

—

MARA/DZ/Page §

12,

13.

14.

15.

Find the odd one out.
(1)  Arabian Sea
(2)  Bay of Bengal

(3)
(4)
(5)

Pacific Ocean
Indian Ocean
Not attempted

Select the combination of numbers so that the
letters

arranged accordingly will form a

meaningful word :

I L B O E M

1 2 3 4 5 6
(1) 6,4,3,2,6,1
(2) 3,4,5 6,21
(3) 6,4,3,1,2,5
(4) 3,4,6,2,1,5
(5)  Not attempted

Choose the correct option, which is related as
given :

11:120::25:?

(1) 624
(2) 250
(3) 125
(4) 224
(5)  Not attempted

Choose the correct option in which the words are
related in the same way as in the given pair of

Singer : Chorus
(1) HRobbers - Loot
(2)  Flowers - Bouquet
(3)  Musicians - Song
(4) Artst

(6)

Paint

Not attempted

" Wid & ey wyry | gpACE FOR ROUGH WORK
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16. ﬁqwaﬁ%ﬁmﬁmﬁmﬁamw&m 19.

17.

18.

IR AT AT @ ?

(1) GdidAga=aaw@e |

@ fraecdamaeh RE?
(3) WG % Ve A @ W EE T |
4 fehgmiwmdR

(5) I & 0 9Ed
20.
Fomm - VA s e wR F f
FAA 1 FAITH IR A weg AT |
(1) Faw |
(2) wwd®
(3) yufaas 21.
(4) IFFad
(5) IR 4 2 9=
frafafega @ @ F9-a1 @fy &1 s yor 7387 2 2 ,
2.

(1) srnfe @fa
(2) 7#rd @fy
(3) 7w dfy
wafz wfu

(4)

(5)

MARA/D2/Page 6

e s 61 2R @ Pt el 3 @ oIg T
BT |

(1)
(2)
(3)

(4)

(5):

(1)
(2)
(3)
(4)

- (5)

3R-3R Gig !
F191 | 38 AT HEEH T ARG § @1 A1 Fh |

g 9 & 6 9% afgae oft @ ol T
il

g3 g 6, 3 gaB-gag W B 4N |
Fer 7l 2 =

| Profafes § @ A weg ‘At wer | i 7 2

Ze
Gl

gl
Rrarht
It A&l AT A

faw 1 iR wreg § Ivent @1 s gan R 2

(1)
(2)
(3)

(4)

(5)

SR
=158
AN
R

T ¥ e

e gt e, srafy sate o,
ﬁ?ﬁﬂ‘g;ﬂmﬁ’wgm%?)
T Fae o st ST 2

(1)
(2)
(3)
(4)
(6)

_\\-‘h\—
™ wTd % forg TuT / SPACE FOR Roy oH Wor

Wit

™y

U

HeE
Tﬂ“{qﬂi;nm




2. ‘s’ ¥ ¥ g walfir Swae A R
(1) vda % 9| i yfy
(2)‘@7@#{4*1@

(3) ¥ 3 BN w1 e
(4) o For v & 6 A e
(5) I T T W

24. T N RV gy W= w1 W |
1 W |
(2) et
(3) wreaufoss

@) ffeg
(5) I TE T ==

25. ST % o 3uge vataareh v 7 2
(1)
(2) dEs
3) 3
4) =

5) I 7 T =z

26. Wmnmﬁmm_wﬁm,l
Wmﬁﬁmmmﬁq.mmh
(1) aﬁmivla?gaq

(2) wmpy qegey
(3) wogem Lo
(4) mmm

5) I 7 2z wma

MARAID2/Page 7 T

27,

28,

29.

30.

Frafoftan wegi # @ #-an sz fivan o Somefeh ®9
aufan & 2

(1) whermge

(2) fam

(3) farzemn

(4)  wHET

(6) IR T 1 =R

Rt # @ v s 1 e a7 2 2

(1) ﬂ?ﬂﬁﬂﬁm'ﬂm:mﬁﬂﬁﬁﬁﬂa
A ;

(2) m@nﬁ'm&aﬁﬁﬁn:aﬁmmt?ﬁwﬂ
& dftafer =1 o firer gerar 2

(3) 3T & YR AR = I-agzrere forfey F ey
(4) =1 AR 99 suar = e
(5) I & a1 ==y

%m*mmﬁmﬁamm

(1) fowres

(2) HaESw

(3) uRumTEY
@) fadgers

(5) I 7 ¥ W=y

ﬁn:rf%fftﬁﬁﬁaﬁq-m
TR
(1) W&

ﬁmmwww

(2) @@
@) st
4) =
(6) I Al T wrwy

W % forg vary / SPACE FOR ROUGH WM



31.

Choose the alternative which best expresses the

84. Choose the alternative which best expresses the
given sentence in Active Voice, meaning of the underlined idiom. .
It is being read by us He had a hair-breadth escape from the accident,
(1)  We have to read it. (1) imprac;lcal
2) very safe
(2) We are reading it. (
(3) narrow
(3) It will be read by us. &) fighting
(4) We can read it. (5) Not attempted
(3) Not attempted 5
; 385. Find out the correctly spelt word.
(1) pretantiosness
32. Read the sentence to find out whether there is (2) pretantiousness
any grammatical mistake in it. .
(3) pretentiousness
Mark the number of the part with error as your (4) prettentiousness
answer. If there is ‘no error’ mark (4). (5) Not attempted
The scientist was seemed to be excited
A B 36. Find out the correctly spelt word.
over the result of his experiment. (1)  thesoraus
C (2) thasaurus
1) C (3) thisaurus
2 A (4) thesaurus
3 B (5) Not attempted
(4) No error
(5) Not attempted 37.  Select the word that is most similar in meamng
to the given word.
33. Rearrange the following parts of a sentence Prosaic
labelled as PQRS to make a meaningful (1)  Patriotic
sentence. (2)  Uninspiring
P. . leave no regret are (3) Poetic
Q. gained over ignorance 4) Cunning
(8) Not at
R. the only victories which attempted
8. those which are 38 Life history of a man written by himself is called
@) SRQP (1) Bibliography
(2) Biﬂgl‘ﬂphy
W PoER @) Calligraphy
(5) Not attempted (5)  Not attempted B
¥ /| SPACE FO
MARA/D2/Page 8 ™ w & forg vam /s R ROUGH Work




Read the following passage carefully and answer
questions 39, 40 and 41.

Tiger is one of the key wildlife species in the faunal
web. In 1973, the authorities pealised that the tiger
population had dwindled very fast. The major threats
to tiger population are numerous such as poaching for
trade, shrinking habitat, depletion of prey base species,
etc. The trade of tiger skins and the use of their bones
in traditional medicines left the tiger population on the
verge of extinction. Since India and Nepal provide
habitat to about two-thirds of the surviving tiger
population in the world, these two nations became
prime targets for poaching and illegal trading. “Project
Tiger”, one of the well-publicised wildlife campaigns in
the world, was launched in 1973. In India, Tiger
conservation has been viewed not only as an effort to
save the endangered species but also as a means of
preserving biotype of sizeable magnitude.

39. The skin and bones of tiger are also used

42,

43.

Which of the phrases given below should replace
the phrase underlined in the following sentence
to make it grammatically correct ?

“She showed courage in advocating policies which
were not common acceptability then.”
(1)

commonly acceptable then

(2) commonly accepted then

(3) then common acceptability
(4) common in acceptability than
(5) Not attempted

Choose the most appropriate pref)osition to fill in
the blank.

Visitors in the garden are prohibited
walking on the grass.

(1) to

(2) from

(3) with

(4) for

(5) Not attempted

(1) in preparation of food products

(2) asraw material in small factories 44, Fill in the blank with the most appropriate

(3) in traditional medicines option given below.

(4) to save tiger from extinction He was advised thé daniiiiar without

(5) Not attempted preparation.

(1) tonot to attend

40. The major threat to tiger populations is (2) ot to attend

(1) Industrialization (3) tonot attend

(2) Lack of Tiger Reserves (4) not to attended

(3) No Government policy (5) Not attempted

(4) Poaching for trade

(5) Not attempted 45. Which one is the correct indirect narration of the
41. Find out a word from the above passage which is TAIHpwESE e

the antonym of ‘legal’. He said, ‘Two and three is five.’

(1) threat (1) He said that two and three were five.

(2) extinction (2) He said that two and three are five.

(3) faunal (3) He said that two and three is five.

4) illegal (4) He said that two and three was five,

(5) Not attempted (5) Not attempted

MARA/D2/Page 9
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Which is the state animal of Haryana ?

16. EAM F o vy Aamd s | 46.
(1) e iy, Tes
@ (2) Elephant
@) e f (3) Black Buck
4) sm™ (4) Tiger
(5) . Not attempted

(5) IW & 1 W

tate Council of Educationg)
: . ; 47. When was the S _
47 wemn § wa ST W S aheg i Research and Training established in Haryang 7

TG 9 g 2 | ——
(1) 1965 : @ 1979
(2) 1979 & 5
(3) 1970 @ 1960 |
@ 1960 (6) Not attempted

(5) I TE T TR
48. Which fort is known as the Gateway of Haryana ?
48. f9 f5t )t g % wer g % W @ s S
(1) Maham Fort

9
2 . (2) Gohana Fort
ol
(1) wrEq (3)  Bahadurgarh Fort
(2) TEr T fen
; bl (4)  Kanod Fort
(3) wRIGEG H
(5) Not tt ted
© i attempte
(5) IW &l &1 TR 49 Haryana ig located around 300 miles North of the
3 | P
49. ®fEwn & s 300 dier 3w A for 2 (1) Equator
(1) yueg @ (2)  Tropic of Cancer
(2) % @ @) Tropic of Capricorn
(3) wa t@n (4) Greenwich line
(4) Hfaa 6) N
‘ 0t attempted
(5) I T Zm =mR
50. ‘Saraswat; il is s ' ich
Su Mill'’ is situated in whic
, > A gar
50. Efamn # g fa i ‘gt IR foret” et LE distriet OfHaryana 9
(1) Wheram D" Faridapgq
2 gaw 2) " Rohtay
(4) FFTHR @ Yamunanagar
' (5) IH el o e i %) Not attempted
- ACE FOR po P il
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510

52.

54.

55.

—

MARA/D2/Page 11

1913 § 99TE I TAEE % TES geI AW ¥
9 H fige vea wiedy wh & 2

(1) e fig

(2) WM

(3) =i uwy f&w

(4) e f&w

(5) I TE T =E

ERAT T 6 TS faret Sy o e e g ?
(1) 15 AW, 1994

(2) 29H, 1994

(8) 381%E, 1994

(4) 26313, 1994

(5) I A & =R

WF. T F voEd o ®Ryw @ fee R finwan
rar T, 99 3 ok U w1 iy @ 99w W @
g ?
(D
(2)
(3)
(4)
(5)

10 373, 1918
10 3794, 1915
10 37d€, 1917
10 378, 1919
I TE ¢ =R

BRATT % e ARG T WIS AW R 2
(1) dTIYH

(2) wHiyegs

(3) wEEH

(4) wrHTE

(5) 3 #f g =mEd

forafers: #1 weifeat wfamn & e fred & o
Tt & 72

61.

52‘

53.

54.

55.

- (3)

Who was the first Indian to be appointed as the
first Chief Justice of the Punjab High Court in
19137

(1) Alok Singh

(2)  Sir Chhotu Ram
(3) Dr. Sarup Singh
(4)  Gopal Singh

(5) Not attempted

When was the first Haryana State Finance
Commission formed ?

(1) 15 October, 1994

(2) 2" June, 1994

(3) 315t May, 1994

(4) 26%h April, 1994

(5) Not attempted

M.K. Gandhi was arrested on which date from

Palwal railway station while going to Punjab to
protest against the Rowlatt Act ?

(1) 10% April, 1918
(2) 10% April, 1915
(3) 10 April, 1917
(4) 10 April, 1919
(6) Not attempted

What is the ancient name of district
Mahendragarh in Haryana ?
(1)

(2)

Satyevpuram
Kapisthal
Sairishaka
Kanoud

Not attempted

(4)
(5)

The Shivalik Hills are not found in which district
of Haryana ?

(1) ﬁﬂ'ﬂl (1) Sirsa

(2) “@T’" (2) Panchkula

(3) AsTe (3) Ambala

(4) FPIAR (4) Yamunanagar
(5) IR 7 & =T (5) Not attempted

__---__-_——
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N

i : d in Hansi was built by
fort of Asigarh situate
56. ®H § g aqu et e T wwET M arefig |56, The

: . ?
ithviraj Chauhan in which century ?
% ot 1 fawfor o w0 o 2 FHEIES
th
D arfied (0 A7 century
(2) 124 a& @ 12% sl
@) 159 wh 3) 16" century
4) 1491 & (4) 140 century

(5) I 7 ¥ = (5) Not attempted
57. R F dm w@ e ¥ wuw 1 9 e R 57. The credit for propagating the Home Rule
(1) I ww fife : Movement in Haryana goes to :
(2) ST qeeftex (1) Thakur Ram Singh
(3) 4. IFrm ymi (2) Lala Murlidhar
(4) W R (3) Pt. Nekiram Sharma
6) IWa A ' (4) Ram Kishore

(5) Not attempted
58. ﬁnﬁﬁaﬁaﬁéa&wnwmmww%?

58. Which of the following is known as the Taj Mahal
(1) wwifew g8 &1 gy of Haryana ?
(2) s wget (1) Ibrahim Suri’s Tombp
(3) & ugd (2)  Sheesh Maha]
(4) @ fugh %1 gy (8) Jal Mahal
(5) IWFd 2 <rmEa

(4)  Sheikh Chilli's Tom},
_ (5)  Not attempt d
9. fassferan & & o i e v 1 Pz e e o

7# T 5 o 59. Which among the following folk dance forms ig
(1) <t not performed by men ?
@ o (1) Chaupaiyan
@ I (2)  Loor
@ @)  Daph
(5) T T = @ Damry
(6)  Not attempted
60. ﬁfam#amwnﬁmn%ﬁmﬁrﬁaaﬁﬁﬁa -
a6 w4 » Bt Lékhrm Chand was born in which of the
1) & following village of Haryana ?
(1) Sihi
(2) vvam .
(2) Mokhrg
(3) mﬁ o ) Nahpi
(4) e _ " Jantikg)gp

e Not attempteq
MARA/D2/Page 12 T wrd & forg v | SPACE FoR ROUGH work



61.

62.

i & fora i o wneran ot ged afies 2 2

(1) ya

(2) Usa®s

(3) T

(4) gEHA

(5) IO FE T 9IRS

31 REwr, 2017 % R ghamn # sy H ™ BBY
AT 1 FoegE w9 1 R 2

(1) W s geE

(2) srrEHE diar deE

(3) farrett s=net T

(4) WIS WIS AT

(5) I & 9Ea

ghamn & fFg af yee @ sfawe (DBT) JSHT
RN &3 ?

(1) 2015

(2) 2011

(3) 2013

(4) 2014

(5) IR AET &A1 =TEd
gfearon # wfy =afe fweh H @oa a@ 2020 - 21 76
e frat B TS 2 7 _

(1) 1540-45 72

(2) 1000 3JFe

(3) 1805-45 gf4e

(4) 1200-45 3

(5) IR A€l & =Ed

#feon g a9 ¥ faea a¥ 2022 - 23 § F T
&1 fara wfawa gfera & § =23 % fore Fuffa fr

™R

1) 21%
2) 46%
3) 4:3%
4) 62%
(5) I A€l &A1 =Ed

61.

62,

64.

66.

MARA/D2/Page 13

Which district in Haryana has the highest
literacy rate ?

(1) Kaithal

(2) Rohtak

(8) Gurugram

(4) Panchkula

(6) Not attempted

What is the full form of BBY scheme launched on
December 31, 2017 in Haryana ?

(1) Bharatiya Bima Yojana

(2) Bagwani Bima Yojana

(3) Bijali Bachao Yojana

(4) Bhavantar Bharpayee Yojana

(5) . Not attempted

In which year was the Direct Benefit Transfer
(DBT) Scheme launched in Haryana ?

(1) 2015 *

(2) 2011

(3) 2013

(4) 2014

(5) Not attempted

What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?

(1) 1540-45 units
(2) 1000 units

(3) 180545 units
(4) 120045 units
(5) Not attempted

What is the percentage of total expenditure
allocated towards Police in Haryana State
Budget for the financial year 2022 - 23 ?

(1) 21%

(2) 46%

3) 43%

(4) 62%

(5) Not attempted

-
1% %4 % fRrg v ) SPACE FOR ROUGH WORK



66.

67.

69.

70.

Eﬁqwnﬁwﬁwaﬁm%nmiiﬁmmmt?
1) s w14

(2) wifes

(3) @

@) fawm

() I T 2 =
mmmwmwwﬁw
R R |

1) ==

(2) U=

3) 3

(4) 3T T yrdm
(5) I T T ==

1958ﬁ§qtr'2ﬁ3a@?«ﬁﬁwfmaﬁa1ﬁ%é
FdtaT B9 F 9

(1) e w9 giEm
(2) w=H i -

(3) UETAN IgFSe
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67.

68.

69.

70,

T e
Rani Lakshmi Bai Award in Haryana is awarqeg

in which area ?

(1) Social Work
(2) Literature
(3) Sports

(4) Science

(5) Not attempted

Shori Bazar in Rohtak is Haryana’s largest
market.

(1)
(2)
(3)
(4)
(5)

Wood

Cloth

Grain

Auto Spare Parts
Not attempted

Who is the first wrestler to win a Gold Medal in
Commonwealth Games in 1958 ?
(1)

(2)
(3)
(4)
(5)

Lila Ram Sangwan
Sajjan Singh
Pahalwan Udaychand
Master Chandgi Ram
Not attemptedl

Which breed of buffalo is called the
Haryana’ ?

(1)  Murrah
(2)  Bhadwari
(3) Niti-Ravi
(4)  Mehsana
(5)

Black Gold of

Not attempteq

Which of the following personalities from {

- Haryana receiveq the Padma Shri in 2022 in the
) R field of Science and Engineering ?
i (1) Raghuvendra Tanwar
2) gfm (2)  Sumit Antil
3) i g i (3)  Om Prakash Gandhj
(4) At Ao AgE (4)  Moti Lal Madan
(5) I =&t ¥ 9mEd (5) Not attempted
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71.

72,

73.

74.

“ﬁa,b,cﬂﬂaﬂﬂﬂMﬂﬁn ab + bec + ca =0 %, @
a2, b2, c2 %1 3ffEq R .

2

(1) SM

2 M

(3) 3M>

6M°

ST TE A1 '

4)

(5)

R V3 = 141428, @ V21
2 =14142%, 7

T R
2+1

(D
(2)

0-3652
0-732
(3) 1-3142

(4) 04142

(5) I EI 1 TR

T FEAER R F e f A, 4 f. wen W
4:3% U § 3 4. e W 2: 1% U |
B ST & | W % By oAl fmrd @ E 2

18 H1. x 24 .
12 dt. x 8 H.

(1)
(2)
(3) 164t x 124.
18 d1. x 22 .

I 81 1 =TEd

(4)
(5)

@mmﬁwﬁquﬁwmwﬁzsh
zq fagm & fapaan ot (fevet W) eren s frad fyspor
# 7g o gl @1 EE 2 1A 2

(1) 8

(2) 4

3) 5

4) 6

(5) IR A& 1 =R
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. (8)

72.

74.

If the averége of a, b, cis M and ab + bc + ca = 0,
then the average of a2, b?, ¢? is

(1) oMm?
2 M
3) 3M
4) 6M

2

2

Not attempted

= is equal to

J2
If V2 = 1-4142, then
J§ +1

(1)
(2)
3)
(4)
5)

0-3652

0-732

1-3142

0-4142

Not attempted

The dimensions of a rectangular floor of a room
when increased by 4 metres become in the ratio
4 : 3 and when decreased by 4 metres become in
the ratio 2:1. What are the dimensions of the
floor of the room ? '

(1
(2)
3
(4)
(5)

18 m x 24 m
12mx8m
16mx 12 m
18 m x 22 m
Not attempted

The ratio of milk to water in 80 litres of g

mixture is 7 : 3. The water (in litres) to be added
to it to make the ratio of milk to water 2: 1 is

(1) 8

(2) 4

3) 5
(4) 6
(5) Not attempted




T T

75.

76.

77.

78.

umﬁuhaaﬂﬁsi-tx-uﬁﬂmmﬁm
R, wafd sra-aaae ot R, € 4,913 @1 ardt R,

LB

(1) T 4,096

(2) ¥ 3,096

(3) T 4,076

(4) T 4,085

(5) I T8 7N 9w

ot 28 9 71 ®Q §wg Aqw B I A 3 4 F
S R | A W sy WA W v & fow B @
30 fare fus ol | A W) oS TR W OARER # &
ELDR I

(1) 2192
2
(2) 19
3 11
2
4) 2w
(5) mmﬂ&mm

ue wwEm fyd ) T Yo H A, gl g H
w1 g R aw Fv A 10 36 R | P
CER

(1) 503‘{%
(2)  20a &
(3) 33%3‘1“
(4) 40 @ adt

(5) 3o A 241 WA

v gty & fedl agro s g w3 ad & o
fram fom m | a2 w@ wanfn @), s @ &
1fxﬂhwwmﬁamﬁamﬁmm],?ﬁ
ax uAnin e 5,100 sfusw sfka scf | ae waufy R

(1) 2 1,70,000
(2) 2 1,20,000
3) T 1,25,000
4) T 1,50,000

78.

76.

71.

78,

5) FWAGMIMAE
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The pl'i

ncipal that amounts to T 4,913 in 3 yeay,

compound intereg

6'1-% per annum

mmpnundcd annually i8 :
(¢ 4,096

2 ¥ 3,096

iy K 4,076

4 T 4,085

(5) Not attempted

nt

[n covering @ certain distance, the speeds of A
B are in the ratio 3 : 4. A takes 30 minutes

and
h the destination. The time

more than B to reac
taken by A to reach the destination is :

1
1) 2- hours
¢ 2
(2) 1hour
1
3) 1= hours
{ 2

(4) 2 hours

(5) Not attempted

The length of one side of a right-angled triangle
is twice the length of the other side and the

length of hypotenuse is 10 em. The area of the
triangle is :

(1) 50 ¢m?
(2) 20 em?

3) 33% cm?

(4) 40 em?
(5)  Not attempted

A sum was invested at simple interest at &
tiertam rate for 3 years. Had it been invested at
% higher rate of simple interest for the samé

time, it would have fetched ¥ 5,100 more. The
sum jg

(% 1.70,000
) #1,20,000
d e 1,256,000
@) 2150 000
(5)  Not attempted




9. 3 AT Tewraf
By -x)ST A9 2 .

(1
(2)
3
(4)

(5)

80. w:ﬁ%ﬁwwmﬁaﬁxmﬁm;zm,
4 UUg, 6%3503,81?13503, 10 9§50 97 12 AFUE F

FAUA F g9t § | 30 e § 3 . gfvaf v @y
et s =9t 0

(1)
(2)
(3)
(4)
(5)

81, 3fz

(1)
(2)
(3)
(4)

-

(5)

82, 3fz
m3
(1)
(2)
(3)
(4)
(5)

——

X 5
WMy (xs ¥) %1 LCM, 161 2 |

16
4
10

15
I FE &A1 9TEd

1L _a @ __._1—— HIHA B :
3718 0-2689 2, 0-0003718

0-2689
2689
2-689

26890

m=__4 am n:-—Z %1m
2 4 n3 %1 G B ;

- 128
- 120
—-124
- 126

79.

81.

82.

3¢ et & =med
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LCM of two prime numbers x and y (x > y)is 161.
The value of (3y — x) is :

(1)
(2)
(3)
(4)
(5)

2

-2

-1

1

Not attempted

Six bells commence tolling together and toll at
intervals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do
these six bells toll together ?

(1)
(2)
(3)
(4)
(5)

16

) .

10

15

Not attempted

1

If —— = 0-2689, then the value of ———
3718 00003718

is:
(1D
(2)
(3)
(4)
(5)

0-2689

2689

2-689

26890

Not attempted

If m=-4 and n =-2, then the value of

3

m -3m2+3m+3n+3n2+n s :

- 128
-120
~124 °

-126 -
Not attempted
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83.

mmage 18

%Hﬁqﬁ4o%aq1%twﬁﬁ4%aegﬁm
FIGH T 4 v T s Fe e | e @
awaﬂtﬁ;mmlmﬂﬁaﬁﬁﬁmqgn-aW?

(1) 29-16 fofex
(2) 26-34 e
(3) 27-36 e

(4) 28 fdex
(5) W 7 ¥ T

A, BAY1 CH % =R # %oy = 80,000, T 40,000
T % 80,000 Faw o | o7 W ¥ w1 A wom o |

73 S T % TR T @ < 40,050 g, A 7
B &1 9 e & 2

(1) 9,000
(2) ¥ 8,000
(3) < 8,900

(4) 5,000

(5) I TEI 2 ==

A, B @ 30% #fu® $v ¥ | 31 & w1y sm w0
7, v F H W T A e ww , ww A

w38 F %1 23 A d w2
(1) 15f=

2 11f=

@ 13f@

@ 202 fa

(5) I T 20 e

wm%%qw:wm

A container contains 40 litres of milk, Frop 4.
co!

container 4 litres of milk was t-aken out 4
replaced by 4 litres of water. This progeg, a

3

repeated further two times. How muych mill

left in the container ?
(1) 29-16 litres
(2) 26-34 litres

(3) 2736 litres

" (4) 28litres

(5) Not attempted

A, B and C invested ¥ 80,000, ¥ 40,000 ang
¥ 80,000 respectively in a business. A left after

six months. If total profit after eight months is
¥ 40,050, then what is the share of B in the
profit ?

(1) %9,000
(2) =8,000
@) 8,900

4 = 5,000

(5)  Not attempted

Ais 30% more efficient than B, How much ti®*
will they, working together, take to complete ®
Job which A alone could have done in 23 days’
(1) 15 days

@) 11 days

(3) 13 days

(4) 3
20“1*5 days

(5
) Not attempted

GH work



' Article 395 of the Indian Constitution wy,
90. WNa % wfyum = SI=BE 395, S wiym @1 aif | 90.

3 @a ft 2 Iall:rraﬁaaﬁ ast) Article h
lso the final (last) icle of the Constit.n 4
’ i @ Foras EY & 91 o als

\
|
tit‘ln !
\

states the provision related to which ¢ the |
R : following ?
(1) v us=i 51 7eq (1) Formation of New States
@) st wdm sfufam, 1947 5 S () Repeal of the Indian Independence At
(3) @™ Y IgEEn 1947
(4) s geias sfufEm, 2019 (3) Proclamation of Emergency
(6) I & N wE (4) Citizenship Amendment Act, 2019
(5) Not attempted
91. WO SFNA T Ty R
(1) wagEet | e TR & T& U 194 |91, ‘Matdata Junction’ refers to :
RIA &1 9

(1) name of a new railway station to raige Vit

(2) TR=am waamai & o afem 1y awareness. ' _
(3) URRE T W ﬁ:r:':‘r ' 3Tﬁ'6511\'ﬁ ¥ foru (2) special polling booth for Divyang voters,

wiRreror rdsy (3) training programme for officials to hand)
oA ITTEF T B postal ballot.
o A e W) s » o v (4) radio series produced by Election
ik Commission of India for voter awareness,
(5) I TE & 9@

(5) Not attempted

FIR TR I Yoo ryan a1 W Ihl foad § (92 The study of writings engraved on hard surfaces
e Wt w3 such as stone or metal is called

o (1) Typography
@) Eﬁ@? ‘ g E?E:E:Y
3) FUEsTEH 4 Iconography
(4) wfqm-fasm . (5) Not attempted
(5) I A& ZM =rad

93. A tryst with destiny’
3 b
93. ‘fwﬁiﬁmamw’wﬁmﬁlﬁwwm y

illustratiy £ oo
g 2 58 gy $ gfaus aw & fofafga § @ . € of India’s in

is a famous speect
dependence made bY

Which of the following members of the
fra weey 3 Foan o 2 Constituent Asaembly of India ?
1 A P (1) V.J, pate)
(2) J.uA e @ g, Nehry
(3) #M.@n, dgE@ega 3) BR. Ambedkar
I — “) sp Mukherjee
(5) I A A .

Not attempted |
- /
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95.

222

(a) %WW%Wﬁmil

(D) T T e ke v g

RSN & 0 N ——
S T @ g s o e 2 1

(1) %3 (a)

(2)  (a)q™>1 (b)

(3) (@) dqU (o)

1) (b (o)

(5) I & 1 9=q

Fefofer § @ SRmA s Dok e ¥

T % fava # wd 2R 0

la)  FIEsE T fawmmt fasor €

(b) ¥E FEiEs H Wid S fGu w2 q@ faem
F1 7 W 93d § T FiAss AR B § |
TEU FAG £ qYT IHSH JT h! gYF I 2 |

= fzu v %2 § 3 TE faweq &1 =97 Hifsw .
(1) a4 (a)

(2) (a)d91(h)

(3) (a)ddl(e)
(4) (b)dHlic)
(5) AT A A 9EA

6gd o feen gqrard 4 G fEen avh 4§ fea

o 1 e, T w1 @ @A e s fan
™ 7

(1) e (37) (T

(2) ween (afaa)

(3) A (W)

(4) Farerz (fazfen 5 AEE) (%)

(5) v T ZA1 Ared
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94.

95.

96.
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Which of the following statements is/are correct
about compounds ?

(a) It shows the properties of the constituent
substances.
(b)  The composition of each new substance is

always fixed.

(c) The constituents can be separated only by
chemical or electrochemical reactions.

Choose the correct option from the codes given
below :

(1)  Only (a)

(2) (a)and (b)

(3) (a)and (¢)

(4) (b)and (c¢)

(56) Not attempted

Which of the following statements is/are correct

about the properties of a Colloidal Solution ?

(a) A colloid is a heterogeneous mixture.

(b) The solute particles settle down when

colloids are left undisturbed, hence, colloids

are unstable.

(c) Colloids are big enough to scatter a beam of
light passing through it and make its path
visible.

Choose the correct option from the codes given

below :

(1) Only (a)

(2) (a)and (b)
(3) (a)and (c)
(4) (b)and (¢c)
(6) Not attempted

Which film won the ‘Best Film an Social Issues’
Award in the 68" National Film Awards under
the feature films category ?

(1
(2)

Natyam (Dance) (Telugu)
Mandela (Tamil)

(3)  Funeral (Marathi)
(4)

(H)

Taledanda “?“‘h“ﬂding a Life) (Kannada)
Not attempted

S
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Translion , < ==

hic . Vg |
Rl | e - pemosr?P . : 5, describe,
07, “HilbR dwa’, ow srauron fg e aeedd 1|97 ” nk Notestein 11 1945 Vo ed
| i ic developme
1945 8 fawfor foar o, onfde fqewrg aar Frlat,ionﬂhip between economic Preny e
& wawl : . re
& davl ) sureur s R S = ~
1) 8 b ¥erd 1) Camgraphlc boundari
: i te
(2)  wmrfdre sty @ (9) Social crime ra
(3) 9| Ayl gy T (3) Death and Birth rtabe |
werrd § sfiaw 6 i (4) Loss of lives in epidemics
(4) aA _
(5) Not attempted

(5) I AE A 9}

: : ) 3 o gculpture in a :
98, UH J 1 W AU ) wied wfown & way fbud & 7 |gg, Nataraja 18 4 bronze sculp dancing

position associated with

(1 T i
andl

= . :;j Krishna

Bi e (3) Shiva

4) et (4) Kali

(5) I A€ 1 = (5) Not attempted

99. SREME ¥ vorl & ¥ ol & ¥ F-R 3w 99. Which of the following industries has the

SR I maximum concentration in the Chhotanagpur
(1) Hfe=TES I Plateau region ?
(2) < 3Tm (1) Automobile Industry
(3) gl 3R T I (2) Sugar Industry
(4) IdTh I (3) Iron and Steel Industry
(5) IR 3 291 TEd (4)  Fertilizer Industry
(5)  Not attempted

100. am=Ea frafafge d @ 68 smecao w1 aftom

FZT uran A g 2 100. Which among the following will no# be ordinarily

consi
nsidered ap outcome of globalization ?

(1) ®EUET
‘ ageid (1) Multj

% mﬂﬁm ) ultilateral trade agreements
" (2) Outsourcing

(3) I |
‘? . 3) Tariff barriers

(4) Yad ' sl !
. : 1gn Direct Investment
fargof &

el ©_Not atemped

——-"'/

jaicaRe
& &1 &
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